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GDS TO PM/MTS JHARKAND CIRCLE-2022 
(1.) License for use a franking machine is issued by 

(A.) The Head of the Postal Division (B.) ASP of the concerned area 
(C.) ASP HQ (D.) DPS 

(2.) Which kind of articles should not be posted in the letter - boxes? 
(A.) Letters (B.) Postcards 
(C.) Inland letter cards (D.) Machine franked articles 

(3.) Which option is correct, in the case of articles addressed to foreign countries, the address should be written 
in 
(A.) Roman letters and in Arabic figures. 
(B.) In Hindi 
(C.) In Persian 
(D.) In Russian 

(4.) Which is correct option in writing address on an envelope? 
(A.) In the lower half towards the right-hand side of the front of the article 
(B.) In the lower half towards the left-hand side of the front of the article 
(C.) In the upper half towards the right-hand side of the front of the article 
(D.) In the upper half towards the left-hand side of the front of the article 

(5.) In respect of working of post offices on Sundays and PO Holidays which below option is not correct 
(A.) All post offices Mobile Post Offices are generally closed. 
(B.) There is no clearance of street letter post boxes 
(C.) There is no delivery of mails on such days 
(D.) Night post offices are closed on these holidays 

(6.) In case of non-delivery, post office may be able to return it unopened and without delay every article should 
bear the name and address of the sender including PIN 
(A.) On the bottom lower left hand corner 
(B.) On the upper side left hand corner 
(C.) On the bottom lower right hand corner 
(D.) On the upper side right hand corner 

(7.) Obtaining the signature of the addressee or his agent on the receipt is not necessary for 
(A.) Registered letter (B.) Insured letter 
(C.) Registered parcel (D.) Post card 

(8.) A large number of undelivered articles is destroyed at every year because they contain no clue, outside or 
inside to the whereabouts of the senders 
(A.) At the various Returned Letter Offices 
(B.) At the various postal Divisional Offices 
(C.) At the various RMS divisional Offices 
(D.) At the various Head Post Offices 
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(9.) This article will be delivered to the addressee after he or his agent authorized in writing has signed a receipt 
for it 
(A.) Ordinary letter (B.) Registered article 
(C.) Book post (D.) Post card 

(10.) Postmen and other delivery agents are forbidden to deliver any article on which any sum of money is due to 
the Post Office, without receiving immediate payment of the amount due. 
Which option is not correct? 
(A.) On account of partial shortage of postage 
(B.) On account of customs duty 
(C.) On account of totally unpaid postage amount 
(D.) On account of excess payment in postage 

(11.) Which option is correct in case an amount is due on an article then the addressee is 
(A.) Not bound to pay the amount due on it to the Post Office article will be returned as refused 
(B.) He is bound to pay the amount due on it to the Post Office 
(C.) Article will be delivered to him without payment of due amount 
(D.) If due amount is not paid by him article will be returned as addressee not found 

(12.) Which of below is not a first class mail? 
(A.) Letters (B.) Post cards 
(C.) Letter cards (D.) Blind literature packets 

(13.) Which option is correct in case a letter posted unpaid is charged on delivery 
(A.) With double the postage (B.) With only due postages 
(C.) With triple postage (D.) No postage will be charged 

(14.) An insufficiently pre-paid book packet is charged on delivery. 
(A.) With double amount of the deficiency 
(B.) With only due amount of the deficiency 
(C.) With triple amount of the deficiency 
(D.) Deficiency will not be charged 

(15.) Blind literature packets are not exempted from payment of the following which fees/charges 
(A.) Registration fee 
(B.) Fee for the attested copy of the receipt 
(C.) Postage charges 
(D.) The airmail charges 

(16.) Coin, bullion, platinum, precious stones, jewellery, government currency notes or bank notes and articles of 
gold or silver may be sent by post only  
(A.) In insured letter/parcels (B.) In speed letter/parcels 
(C.) In registered letter/parcels (D.) In express parcels 

(17.) Which of the below item is allowed to be sent through postal system 
(A.) Open sharp instrument 
(B.) Any living creatures 
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(C.) Ticket, proposal relating to a lottery 
(D.) Government currency notes 

(18.) Which option is correct in regard of the expression Railway Mall Service means the service responsible for 
the carriage of mails? 
(A.) By rail (B.) By road 
(C.) By air (D.) All of the above 

(19.) Which option is not correct regarding Transit Mail Office which is a branch of RMS where 
(A.) Closed bags are received 
(B.) Closed bags are dispatched 
(C.) Sorting of letters is done 
(D.) Mail Agent or Mail Guard is in charge of this unit 

(20.) Which statement about Returned Letter Office is not correct? 
(A.) It is located at Headquarters of a Postal Circles 
(B.) It is located at Headquarters of Regional offices 
(C.) it deals with unclaimed articles 
(D.) It deals with articles without or incomplete addresses 

(21.) Sorting Assistant-The term Sorting Assistant is used to designate which one of the below 
(A.) Supervising Officers (B.) Mail Guards 
(C.) Class IV servants (D.) None of the above 

(22.) Which is true about Face and facing? 
(A.) These are related to sorting of articles 
(B.) The face of an article is the side on which the address is written 
(C.) 'Facing' means the arrangement of articles with the address-side upwards and the addresses turned in 

the same direction 
(D.) All above are true 

(23.) Which is not true about Cash Bag? 
(A.) Used for Remittances of cash between Post Offices. 
(B.) Cash bags are not due bags. 
(C.) They are dispatched in account or Registered bags 
(D.) It contains B.O Slip 

(24.) Which option is not true regarding working of Night Post Offices? 
(A.) It opens on Sundays 
(B.) It opens on National Holidays 
(C.) It opens on other P.O. holidays 
(D.) On Holidays it observes full working hours 

(25.) The Postal Department is under the administrative control of 
(A.) Secretary of the Deptt. of Posts (B.) Director General of Posts 
(C.) Member HRD (D.) Member Personal 

(26.) Which is not true about Account bags used between a sub-office and its Head Office? It can contain 
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(A.) S.O. slip (B.) S.O. daily account 
(C.) Cash bag (D.) B.O. slip 

(27.) Post Offices are divided into three classes. Which is not correct one 
(A.) Head Post Offices (B.) Sub-Post Offices 
(C.) E.D. Sub-Offices (D.) E.D. Branch Post Offices 

(28.) First Class Head Postmaster of Gazetted Head Post Offices, in regard to their own offices, exercise all the 
powers of a 
(A.) Superintendent of Post Offices (B.) Sr. Superintendent of Post Offices 
(C.) Sr. Superintendent of RMS (D.) Director Postal Services 

(29.) Which option is not correct? 
The public business hours of the post offices are fixes with regard to 
(A.) Local convenience (B.) The arrival timings of mails 
(C.) The departure timings of the mails (D.) As per order of police authority 

(30.) Who is the chairman of the Postal Board? 
(A.) Secretary, Deptt. of Posts (B.) Director General, Deptt. of Posts 
(C.) Member HRD (D.) Shri Vineet Pandey 

(31.) The oldest Indian classical language spoken in many Indian states today also 
(A.) Sanskrit (B.) Tamil (C.) Hindi (D.) Bengali 

(32.) Which movement is not related to India's Freedom Struggle? 
(A.) Quit India Movement (B.) Civil disobedience Movement 
(C.) Non Co-operation Movement (D.) JP Movement 

(33.) Who was the founder of Azad HindFauj 
(A.) Sardar Patel (B.) BalGangadhar Tilak 
(C.) GeneralShahnwaz Khan (D.) Subhash Chandra Bose 

(34.) You are a person with a high level of……..if you stand by your values despite being under huge pressure 
from others 
(A.) Ability (B.) Efficiency (C.) Integrity (D.) Humanity 

(35.) If you go to your work on every day time except in emergency or prior approval. It shows your 
(A.) Honesty and integrity (B.) Cooperation 
(C.) Efficiency (D.) Ability 

(36.) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, 
provided that they all work at the same rate? 
(A.) 100 days (B.) 70 days (C.) 20 days (D.) 210 days 

(37.) Shikha went to a brick kiln to by bricks. The rate of the bricks was 2500 rupees per one thousand bricks. 
How many bricks can she buy if she has only 4000 rupees? 
(A.) 10000 (B.) 1500 (C.) 16000 (D.) 4000 

(38.) Running at a speed of 60 km per hour, a train passed through a 1.5 km long tunnel in two minutes, what is 
the length of the train? 
(A.) 250 m (B.) 500 m (C.) 1000 m (D.) 1500 m 
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(39.) A car travels some distance at a speed of 8 km/hr and returns at a speed of 12 km/hr. If the total time taken 
by the car is 15 hours, then what is the distance (in km)? 
(A.) 48 (B.) 60 (C.) 56 (D.) 72 

(40.) The efficiency of A, B and C Is 2:3: 5.A alone can complete a work in 50 days. They all work together for 5 
days and then C left the work, in how many days A and B together can complete the remaining work? 
(A.) 50 days (B.) 30 days (C.) 20 days (D.) 10 days 

(41.) If 'A' is 6 times more efficient than 'B', 'B' takes 32 days to complete the task, then find the number of days 
required to finish the whole work by 'A' and 'B' working together. 
(A.) 12 days (B.) 4 days (C.) 6 days (D.) 8 days 

(42.) Which two numbers should be interchanged to make the given equation correct? 
63   21- 42 +8 x 7=135 
(A.) 21 and 42 (B.) 21 and 8 (C.) 7 and 63 (D.) 7 and 21 

(43.) A shopkeeper earns a profit of 25 percent on selling a radio at 15 percent discount on the Printed price. 
Finds the ratio of the Printed price and cost price of the radio 
(A.) 17:25 (B.) 25:27 (C.) 27:25 (D.) 25:17 

(44.) Two successive discounts of 40% and 20% respectively, on the marked price of an article are equal to 
single discount of Rs. 988. The marked price (in Rs) of the article is: 
(A.) 1,900 (B.) 2,200 (C.) 2,470 (D.) 2,070 

(45.) Which of the two signs should be interchanged in order to make the following equation correct? 
21+5x2-21   3 = 12 
(A.) + and - (B.) - and + (C.) - and x (D.) x and + 

(46.) The longest river of India is 
(A.) The Ganges (B.) Brahmaputra (C.) Godavari (D.) Mahanadi 

(47.) Which of the following rivers do not flow through Jharkhand state? 
(A.) Damodar (B.) Swarnarekha (C.) Barakar (D.) Mahanadi 

(48.) Who is the current Chief Minister of Jharkhand? 
(A.) Shibu Soren (B.) Hemant Soren 
(C.) Kalpana Soren (D.) None of the above 

(49.) Which is most widely spoken language in the world? 
(A.) Mandarin (Chinese) (B.) English 
(C.) Hindi (D.) Urdu 

(50.) Who invented the electric bulb? 
(A.) Alfred Noble (B.) Thomas Alva Edison 
(C.) Benjamin Franklin (D.) Alexander Graham Bell 
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GDS TO PM/MTS JHARKAND CIRCLE-2022 KEY 
ANSWER 

(1.) A (2.) D (3.) A (4.) A (5.) D 
(6.) A (7.) D (8.) A (9.) B (10.) D 
(11.) A (12.) D (13.) A (14.) A (15.) D 
(16.) A (17.) D (18.) D (19.) C (20.) B 
(21.) D (22.) D (23.) D (24.) D (25.) B 
(26.) D (27.) C (28.) A (29.) D (30.) D 
(31.) B (32.) D (33.) D (34.) C (35.) A 
(36.) B (37.) B (38.) B (39.) D (40.) D 
(41.) B (42.) D (43.) D (44.) A (45.) C 
(46.) A (47.) D (48.) B (49.) A (50.) B 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


